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NMOBTOPEHUE U3YHEHHOIO
B Il HYETBEPTH



1. YCTHbIL CYeT:




165-80= 4-

150-50= 4
65+28= -
88+12=

 67-33=dfa
34+64= -










2. CpaBHMU :




\

s

s

s

s



3. Pewn 3aaayy :




1. BapuaHT 2. BapuaHTt
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KOpOOKe 21 paKyLLKa,
a B Apyron 18
paKyLleK. Bce
PaKYLLUKU Pas/i0oxKnau
B MakeTbl MO 3
pPaKyLKU. CKO/IbKO
notpeboBasnoch
NakeToB ?

16 pbIObOK, @ B Apyrom
24 pblOKK. Bcex
pPbIOOK npoganu
nokyrnatenam no 10
WTYK. CKO/IBKO
NoKynaTesien NpuLlaI0
B 300MarasuH ?




PU3KY/IbTMUHYTKA.

OTTO/IKHY/1ICA NAapOXO0A,
(BCTaTh)

OH LWarHy/ Ha3sag cHavana,
(war Haszapa)

A NOTOM LLarHy/ snepea.
(war Bnepea)

M non iz, NOMN/biA MO peykKe,
(ABUXKEHUA pyKamK)

Habupaa nosHbIv Xoga,.




4. Pewn npumepbl







5. f[eomeTpuyeckmn matepuan




MHY npyaa.

—
NPAMOYro/IbHMKA B 10 pa3 U HayepTU ero B
TeTpagu. Hanan naowagb no/yydmBLUENCA

burypeil.




MO/10ALbI !




